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1 —BREFREOBIT

(1) mADER

X o |7 E B ELE 3 BT F BN A B EIR A =
HT i 2,987,997 1,752,461 — 1,752,461 58.7
o KA E 5 W 67,000 19,767 — 19,767 29.5
M oF A X M £ 7,000 1,129 — 1,129 16.1
B & & X #F & 13,000 2,697 — 2,697 20.7
BAEFRERFIR AL 1,000 0 — 0 0.0
A HEEBRI MG R 465,000| 280,169 — 280,169 60.3
BERERGHRXMGE 12,000 5,872 — 5,872 48.9
oA A XM E 13,000 18,167 — 18,167 139.7
o A X 1,821,074| 1,680,515 — 1,680,515 92.3
RBREXN KRR E 4,700 2,590 — 2,590 55.1
THEHERUVAES 181,664 64,894 — 64,894 35.7
FAHMRERUYFHH 132,474 65,187 — 65,187 49.2
B E X H =% 1,160,369 379,824 — 379,824 32.7
R X H & 710,675 148,766 — 148,766 20.9
Bf E )Y} A 64,802 4,003 — 4,003 6.2
& Bf & 501 348 — 348 69.5
e A & 750,000 0 — 0 0.0
% i & 701,408 541,872 — 541,872 77.3
B ) A 279,555 51,783 — 51,783 185
i) E 456,967 of -— 0 0.0
=) H 9,830,186 5,020,044 — 5,020,044 51.1
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(2) DR

X 5|7 E B OELE F BT P X E B X O OE
o = = 108,686 55,684 — 55,684 51.2
T % g 1,517,668 505919 — 505,919 33.3
R 4 E= 3,173,686 1,451,219 — 1,451,219 45.7
& 4 & 1,221,413| 527,614 — 527,614 43.2
BE MK K E X & 191,100 29,044 — 29,044 15.2
[z T g 95,303 41,360 — 41,360 43.4
* ¥ N & 544,057 109,329 — 109,329 20.1
H 3] g 420,846| 231,650 — 231,650 55.0
# ] & 868,403 353,939 — 353,939 408
X F # 1B # 7,500 0 — 0 0.0
7N B & 934510 461,391 — 461,391 49.4
E 53 H & 735,466 404,240 — 404,240 55.0
B id fis & 11,548 0 — 0 0.0
a H 9,830,186( 4,171,389 — 4,171,389 42.4
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(1) EADER
X > |IPEREL + B HA[UR A 28 ET[UR A ZE
B R FERK%S A = & | 3896830| 1561575 1,561,575  40.1
BHEmEERSN =G 401,773 146,806 146,806  36.5
BRI XEXFAMEFES XTI 79481 78,624 78,624 989
K & T X = &t 464,287 231,569 231,569  49.9
REBEEARHTKESETERE 778,444 311,234 311,234| 400
& 5t | 5,620,815| 2,329,808 2,329,808 41.4
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(2) DR
X > | FEHEL + HilXZ 28 Bt H E
ERREERRKS N & & 3,896,830 1,696,888 1,696,888 435
BHEmEEREN =G 401,773 105,120 105,120  26.2
BRI XEXFAMEFES XTI 79,481 0 0 0.0
K & T O OxX = it 506,262| 157,025 157,025/  31.0
REBEEAHT KEZTERE 794,602 169,373 169,373  21.3
=) &t 5,678,948| 2,128,406 2,128,406 375
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3 EEFDIKR

X o | B’ 7 =
Bt B &R 2 X = 806,965
i & £ & 923,996
N H kR FERE £ 895,261
=) & 2,626,222
(BAL:FH)
4 HAEDWKBR
X o | B’ 7 =
— fi% & & 6,691,037
KB F E I 989,923
REBEEAETKEETEXSE 6,528,761
=) ) 14,209,721
(BfL:FH)
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X o | B’ 7 =
— 53 f& A & 0
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